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THIFE (0215E) 10700~16:30 18 :30~20: 20
48 55 65 78 85 9A
1 K|\Ahoow)osd 1 £ 1 K 1 R|\hoowIvy 1 H 1 K
2 & 2 B 2 K 2 & 2 B |IKfE 2 K\Aoow)oy
3 3 3 K|ty 3 3 K 3 &
4 B 4 X 4 & 4 B 4 K 4 +|TSPRAER
5 A |{KkfE 5 K 5 = 5 A |{KfE 5 K|hovw)oy 5 B|F3YE
6 K 6 K |{KEE 6 B 6 X 6 & 6 A |{KEE
7 Kk 7 & 7 B |{KfE 7 K 7 7 X
8 AN|huotw)y 8 8 X |AHFEREE 8 KN|\Avotw)vy 8 H 8 K
9 & 9 B 9 X 9 & 9 A 9 K|hoowIoy
10 = 10 A |8 10 K |Aoow)os 10 = 10 K |{KEE 10 &
11 8 11 K 11 & 11 B8 11 K 11 *
12 A K8 12 K 12 12 B |IKfE 12 K|hoow)os 12 A
13 K 13 K|{Aoow)os 13 H 13 X 13 & 13 A |{kEE
14 7k 14 & 14 A |{KfE 14 7k 14 + 14 K
15 KAt s 15 = 15 X 15 K|{Aoot)os 15 B 15 7K | HHATEE /&
16 & 16 B 16 7K 16 & 16 A |{KfE 16 KN|hoow)os
17 = 17 B |k&& 17 KR{Aoow)os 17 = 17 X 17 &
18 B 18 X 18 & 18 B 18 7k 18 =
19 A K8 19 Kk 19 *+ 19 A |{KEE 19 K|{Aoot)os 19 H
20 X 20 K|HovwI)VT 20 H 20 X 20 & 20 A
21 K 21 & 21 B |{tkfE 21 K 21 21 K |{KEE
22 K|\hovwI)VT 22 22 X 22 K |\hovw)osg 22 H 22 7k
23 & 23 H 23 K 23 & 23 B |{kfE 23 K|Ahovw )T
24 L 24 B |{tkEE 24 R |\hovw)oT 24 * 24 K \HBTEEE SE 24 &
25 B 25 K |IHERE 25 & 25 B 25 K 25 +
26 B |{tKEE 26 Kk 26 26 A |{tkfE 26 K |Hovw)vg 26 H
27 X 27 K |\HovE)vT 27 B 27 X 27 & 27 B |{keE
28 Kk 28 & 28 A |{kfE 28 &k 28 28 K |HBTEE B
29 K 29 t+ 29 X 29 K 29 H 29 Kk|=wxTaT
30 & 30 A 30 Kk 30 & 30 A |{kfE 30 K
31 A [tkE8 31 = 31 K
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10 : 00~16: 30 13:30~20: 20
104 118 12A 1H 2A 3A
1 1 B |{kE8 1 K |[HRTEE % 1 £ |4K88 1 K 1 K
2 2 K 2 K| hot s 2 B |tk 2 % 2 %
3 B 3 % 3 % 3 B |tk 3 K By 3 K By
4 A |tk 4 K Py 4+ 4 K |theg 4% 4%
5 K 5 % 5 B 5 K 5 + 5 +
6 7k 6 6 A |KEE 6 A |hovtUryg 6 A 6 B
7 K|y = 7 K 7 % 7 B |tk 7 B |tk
8 & 8 A |tk 8 k 8 + 8 X 8 X
9+ 9 % 9 K|ty 9 B 9 % 9 i
10 8 10 7 10 & 10 B 10 & [Botn s 10 & [Aotun s
11 8 |thes 11 K [hostn s 1+ 11 K | ke 1 % 1 &
12 % 12 & 12 8 12 5% 12 + 12 +
13 % 13+ [maTHE EE |13 A ke 13 & [H9tun s 13 B 13 B
14 K [ty 14 A8 14 & 14 & 14 A |vke 14 A |4heg
15 15 B | ke 15 7 15 + 15 & 15 &
16 + 16 % 16 & [Hotun s 16 8 16 % 16 7
17 8 17 % 17 & 17 B |4kt 17 K |[potun s 17 & [pootny
18 A |the 18 & Bty 18 + 18 % 18 % 18 %
19 % 19 % 19 8 19 7 19 + 19 +
20 K T |20 = 20 A |the 20 K |povesvy |20 B 20 A
21 K|povwvy |21 B 21 K 21 & 21 A |t 21 A
2 % 22 A |thee 22 % 2 + 22 K Yars -
23 + 23 % 23 K|povry |23 B 23 5k 23 K
24 | 24 % 2% & 24 B |theE 24 K|howny |24 K| poeuny
25 7 |tkem 25 K |poey |25 £ 25 K %5 & %5 &
26 Kk 2% & 2 B 26 2% + 2% +
27 K ?ﬁ%g%g@_ 27 + 27 B |theg 27 K |ty 27 B 27 B
28 K |poveivy |28 B 28 & |haE 28 & 28 B |8 28 A |8
29 % 29 A |tkam 29 k| traE 20 + 29 %
30 + 30 & 30 A |haE 30 B 30 k
31 B 31 % |tham 31 A |8 3 &




